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Crystal 1 on laser head 2 (Spare @ Nice, (PSL-LAS-0101-01)) 
Lab temp = 20°C, slave output power = 20 W, that is ~20 W pump on the crystal 1 
 
Voltage are referenced to the associated black pins (*), are expressed in Volts 
 
Peltier Status V_PinBlack_J1 V_PinGrey_J1 V_PinBlack_J2 V_PinGrey_J2 V_pinYellow_J2 Current (A) 
Full load(**) - 0 - 20 25  1.8 
Standby(**) - 10 - 1.3 25  0 
Nominal(**) - 7 - 8 25  0.4 
 
(*) Full load: we set the crystal Temp to 15 °C for few minutes 
(*) standby: we set the crystal Temp to 26 °C for few minutes 
(*) nominal load: we set the crystal Temp to 22 °C 
(**) see next slide for pin identification 
 
 
 
# Peltier current values on  2016-09-12 @ Cascina (PSL-LAS-0101-03) 
Diode 1/Crystal 1 Tcrystal = 22 °C, I_Diode = 34.0A -> out1_PID = 20% =  1.2 A 
Diode 1/Crystal 1 Tcrystal = 25 °C, I_Diode = 34.0A -> out1_PID = 50% =  0.8 A 
 
Diode 2/Crystal 2 Tcrystal = 22 °C, I_Diode = 35.4A -> out1_PID = 20% = 1.2 A 
Diode 2/Crystal 2 Tcrystal = 25 °C, I_Diode = 35.4A -> out1_PID = 46% = 0.9-1.0 A 
Rem.: Crystal2 PID has been suspected to be faulty (09/2016, logentry  #34624) 
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